Seat No. / Enrolment No.:

GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Engineering — SEMESTER -4 (NEW) - EXAMINATION — Summer-2025

Subject Code: 4340603

Date: 17-05-2025

Subject Name: Estimating, Costing and Valuation

Time: 10:30 AM TO 01:00 PM

Instructions:
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Total Marks: 70

Attempt all questions.

Make Suitable assumptions wherever necessary.
Figures to the right indicate full marks.

Use of simple calculators and non-programmable scientific calculators are permitted.

English version is authentic.

Write advantages and disadvantages of green building.

Aot (yesTolell slel W A§1AEL Qudl.

Explain use of green building material in. construction items.
Use of Green building material in Construction items

Use of Green building material in Construction items

Use of Green building material in Construction items

Use of Green building material in Construction items

wigsiH Hie duAAe drqdlii Aol (€51 H(2RudsAl GUALL yHMd).

Prepare rate analysis for 10m® of first class brickwork in C.M. 1:3 in
superstructure.

YU R SUMI 10 m3 UL R1H2 51d 1:3 Ui UM S&llsf o] YRR S UL

CTSRIERISIER)
OR
Prepare rate analysis for 100 m2 of 15 mm thick plaster work in C.M. 1:3.

Explain types of specifications.
[aledl el Usl qHodl.
Explain detailed specification for excavation work

VLRSI HIR (Adldd R u¥] 501 yuextdl.
Calculate the quantity of R.C.C. concrete work and formwork for an RCC
Beam as shown in fig. 2 Take side cover =50mm"

OR
Write the importance of specifications
[aREdiAled] Hecadl [agl duil.
Explain detailed specification for stone masonry work for superstructure.

YURRSUR UL UedRef] YRldRell 14 Ul [Adldd iR 2U¥] 5L 41l
Prepare Bar bending Schedule for an RCC Beam as shown in fig. 2. Take side
cover =50mm on both sides.

2.4, ofln w1l 2 ui e2lide 8 d uRedl ofly H12 Wk A5 syd

Woild). o{lHell ol 041 U18S 52 =504 Hl. €l
Calculate quantity for skirting for all rooms fig.1

B15cll-9 Hi Gl M HI2 25391 o1l S1Ho{] 2ARL 204,
Calculate quantity for earth filling for both plinth and foundation for building
for fig.1.

Calculate quantig_y for inside plaster for building for fig.1
15cll-1 Ui elide (0[50 UL vie ol w0l (2L 218l
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Calculate quantity for DPC for all rooms for fig.1
W 15c(l-1 Hi vt 24 HI2 DPC il SiHeil 21(2L 20,
Calculate quantity for number of tiles for all rooms for fig.1

WSl Ui ebl 4 HI2 2186 ] vl HIe «fl AL 204l
Calculate quantity for brick masonry for superstructure for fig.1
1519 Sl YRR S1H Hi YU KU UL «{l (2L lH).

Write the characteristics of a good estimator.

AR velws1Rel] el (RSl dull.

Give the multiplying factor for painting

(1) Flush door (2) Wooden fully glazed door

(3) Collapsible gate (4) M.S. Grill door

Ust 210l HIell QLS 5522 wQlld):-

(1) §42L £a1%) (2) dlsullell Wag 261 ed 1)

(3) slawilodd €419 (4) A1 A4, A9 qloll ed 1.
Calculate quantity of earth work by mean sectional area method for a road
section having following data:

(@) Formation width: 10 m

(b) Side slopes: 2:1 (H:V) In filling, 1.5:1 (H:V) in cutting

(c) formwork R.L. at 0 m chainage: 107 m

d) formation has no longitudinal slope (leveled formation

Chainage 0 30 60 90 120 150
(m)
Ground | 455 | 1053 | 1054 | 1058 | 106.0 | 106.8
level (m)

oflAefl (Al ALAetl AS AsUel HIS URUL WISl AAsNeA] dell
Yatell H12) siusil 2U(2L De). () ASeil uslonle =90 H].
(W) W1ogell BLOL = A (H:V) YRIQIME, 1.4 9 (H:V) WlelQui
(5) ASs{l AUL2leAl 0 ALsNis UR sTHUeL Add 09,0 H].
(5) ASA duileSU 3l sl (M el [dos Asst)
OR

Give the data required for preparing estimate.
Bl dYUR sl HIR %3] 32l dudl.
Give Service unit for (1) Hostel (2) Jail (3) Theatre (4) Stable
AldA Y(ele duil:- (1) Sld2d (2) B4 (3) ellder (4) dAdl
Calculate quantity of earth work by trapezoidal method for a road section
having following data:

(@) Formation width: 10 m

(b) Side slopes: 2:1 (H:V) In filling, 1.5:1 (H:V) in cutting

(c) formwork R.L. at 0 m chainage: 107 m

d) formation has no longitudinal slope (leveled formation

Chainage 0 30 60 20 120 150
(m)
Ground | 105 | 1053 | 1054 | 1058 | 106.0 | 106.8
level (M)

oAl (Adld Aleetl AS AUl HIS UA OS] el yAell U1l s1usl
(21 208, (¥4) ASe{l uslale = 9o H].

(W) WL1ogell BLOL = A (H:V) YRIQIMHE, 1.4 9 (H:V) WlelQMi

(5) ASeil quLllefl o AULSNS UR STHU Add 109.0 H],

(5) A5 de{ISH 3l A1l (- (B[ Aset)
Write objects of valuations.

Y& [Sololl q) qul.

Differentiate between depreciation and obsolescence
UAHRYsA Wl WUA(Addl A dsldd Gu),
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(c) The present value of a machine is Rs. 500000/- and scrap value is Rs. 50000
.Calculate depreciated cost after 5 years by Constant percentage method and
Straight line method if life of machine is 15 years.
(5) A5 ULlAell Lol (5Hd . 500000/- ¥4a FU YR 3. 50000/-. % HL{lelo]
WY 15 oy 1Y dl #HUd 25ldIledl Tld wal le] utefl el 5 ay
Uel MY RYst W] QA3 52,
OR
Q.5 (a) Differentiate between scrap value and salvage value.
U5 () U AR we Y14dy A} R dsldd qul.
(b) State methods of calculating depreciation. Explain any one.
() ARl (5Ud ladlel dl wssudl 516 gL xs Id quedl.
(¢) A loan amount of Rs 500000/- is to be repaid by 20 equal installments at 9%
rate of interest. Find amount of annual installment.
(5) 2.500000/-o &leioil 26H 9% c%eil €2 20 UHlel SHIML GIR1 Ysddleil
8. dlls el 254 20l
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